Multiplication de Deux Binomes par un Trinome (C)

Simplifiez chaque expression.

1 (—8° — 9bt)(—8b° — Tb)(8b° — 9bt + Tb?)

0 (—2k° — 2kM) (2K — 2k%)(—3k® — 2k* 4 8k)

D

3. (—2k* + 9k%) (5k* — 3k)(3k® — 8k* — 8k)

L (=82 — 9)(—42% 4 22) (=72 +32° — 527)

Ot

(3% = 9t) (—t° + 3t*)(4t* — 817 — 81?)

6. (Ty + 5)(=3y® — 3y (3y* + 3y° + 24?)

-3

2P+ 9fN(9F° — 8N (2f* + 8f% — 9f)

8. (Tr — 3) (8% + 6r)(=7r° + Tr* — 3r3)

0. (—4n* — n?®)(3n° + 6n*)(9n* — 2n°® — 2n?)

10. (=59 — 9)(4¢” — 4¢")(9¢° — 7" — 5¢°)
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Multiplication de Deux Binomes par un Trinome (C)
Réponses

Simplifiez chaque expression.

(—8b° — 9b*)(—8b° — TbH)(8b° — 9b* 4 Tb%)
= 5120% + 448p' — 200" + 32952 + 441

—_

\}

C(—2k° = 2kh) (2K3 — 2K)(—3K® — 2k* 4 8k)
= 12k 4 8k'0 — 44k — 8k° + 32k7

- (—2K* + 9K°)(5k* — 3k)(3k® — 8k* — 8k)
— —30k" + 233k% — 409k" — 192k + 216K°

o

1 (=82 — 9)(—42% 4 22) (=72 + 323 — 52%)
— —92242" — 4425 4+ 262° — 1542* + 9023

(312 — 9t)(—t° + 3th)(4t* — 83 — 8t?)
— 12t 1 9610 — 22849 + 7218 1+ 216t7

(@

(@)

(Ty +5)(=3y° = 3y*)(3y" + 3y + 2¢°)
= —63y" — 171y — 195y° — 117" — 30y’

J

TR 49N =82S+ 87 —9f)
— 361 4+ 27412 + 214F" — 1161 f'° + 648 °

(Tr — 3)(87”2 + 67’)(—77“5 ot = 3r3)
= —392r% + 266" + 84r° — 180r° + 5dr*

oo

(—4n* —n*)(3n° 4 6n?)(9n* — 2n® — 2n?)
— —108n" — 219n'2 + 24n't + 66n'° + 12n°

©

10. (=59 — 9)(4¢” — 4¢")(9¢° — 7¢* — 5¢°)
= —180¢™ — 44" + 5364 — 172¢% — 1804"
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